
 

 

Spare parts list of DPD-120 Post Driver (for 4-stroke engine) 

 
No. 

101 

Description 

Adapter 120mm 

Qty 

1                   

No. 

139 
 

Circlip for hole 

Description Qty 

1 

102 Ø8 Flat gasket 8 140 Bearing 6203  
 

2 

103 Ø8 spring washer 20 141 Mid gear 
 

1 

104 M8X20 Hexagon socket head screw 4 142 Mid axle  
 

1 

105 Impactor 1 143 Axis  
 

1 

106 M8X55 Hexagon socket head screw 6 144 Spacer  1 

 
107 

 
Metal head 

 
1 

 
145 M6*25 Hexagonal cylinder head spring pad 

 
6 

   Assembly   

109 Punch hammer 1 146 Upper support plate  1 

110 Switch block 1 147 Lifting yoke  1 

111 Tubular handle 1 150 Gear box  1 

112 Under support plate 1 151 M6*20 Hexagonal cylinder screw  1 

113 M14 flange screw nut  2 152 Bearing 6205  1 

115 Big tendon seal 1 153 Eccentric shaft  1 

116 O-ring ( 23.6*5) 1 154 Straight pin  1 

117 Shank adapter 1 155 Connection rod  1 

118 Gasket for cylinder (59*69-2) 3 156 Needle bearing 18/20  1 

119 Cover for broken ring 1 157 Clip board for connection rod  1 

120 Broken ring 1 158 M8*16 Flange hexagon screw  1 

121 Small tendon ring 1 159 ST4*12 tapping screw 6 

122 M8X45 Hexagon socket head screw 4  160 Wick 1 

123 Front placket 1 161 One-way valve  1 

124 Cylinder 1 162 Inside cover for tank 1 

125 Double lip ring 1 163 O-ring 2.65*75 1 

126 Piston 1 165 Outside cover for tank 1 

127 Paper washer for front placket 1 164 T-type seal ring  1 

128 Handle 1 166 leather collar for oil leveler  1 

129 Damping spring 4 167 Oil leveler 1 

130 Cover for spring 4 168 Bearing 6202  1 

131 Bearing 6204  1 170 Clutch Drum for 4-stroke engine  1 

132 Gland 1 171 Petrol engine  1 

133 M5*12 sunk screw 4 172 Limitation washer  1 

134 Big gear 1 173 Ø6 Flat gasket  6 

135 Guard circle 1 174 6*27 straight pin  2 

136 Gear box cover 1 175 Aluminum spacer for 4-stroke engine  1 

M5*18Hexagonal cylinder head     

137 

 
138 

spring pad assembly 10 

Shaft ring 17 1 

176 

177 

M6*50 Hexagonal cylinder screw 4 

Flat pad 6*12-2  4 

*Parts in Yellow fill color are recommended common parts for bulk orders 

DPD120101 

DPD120105 

DPD120107 

DPD120109 

DPD120110 

DPD120111 

DPD120112 

DPD120115 

DPD120116 

DPD120117 

DPD120118 

DPD120119 

DPD120120 

DPD120121 

DPD120124 

DPD120125 

DPD120126 

DPD120127 

DPD120128 

DPD120129 

DPD120130 

DPD120132 

DPD120133 

DPD120134 

DPD120135 

DPD120136 

DPD120137 

DPD120138 

DPD120139 

DPD120141 

DPD120142 

DPD120143 

DPD120144 

DPD120146 

DPD120147 

DPD120150 

DPD120153 

DPD120154 

DPD120155 

DPD120156 

DPD120157 

DPD120164 

DPD120166 
 /67 

 

DPD120160 
 /165 

 

DPD120170 

DPD120172 

DPD120174 

DPD120175 

DPD120177 

DPD120102 

DPD120103 

DPD120104 

DPD120106 

DPD120113 

DPD120122 

DPD120123 

DPD120131 

DPD120140 

DPD12045
4 

DPD120151 

DPD120152 
 

DPD120158 

DPD120168 

DPD120171 

DPD120173 



PRPD120 exploded drawing for 4-stroke engine 
 

 

 


